Unit Test: Radian Measure
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% Show all work for each of the following in the space provided.

(@) Convert the following to radian measure:
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(b)Convert the following to degree measure: 2.85 rad [2]

(c) Determine the principal angle of

2. Solve the following trigonometric equation:
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in radians. [2]
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Without using a calculator, evaluate nfollowing: L

(Must include a separate sketch for each angle)
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4. Solve each of the following lrigonorﬁc equations;

@ 3sin’x-7sinx=6,  _360°<x<720°
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(b) (20059—1)2+9cos€=20059(0059+l), -47<0<L2x
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